(55 13 3R 7EEH1E)
(Lesson 13 At the Library)

—. PFUIE . (Origin of Character)
1. B (fruit; result)

MIARDU B BT, “ R Rl AR 7 I AN R+ HJZ M
FURMA B, “ 7 P AL, B R ERE R ENRIE .
(From the perspective of modern characters, the character “:” can be broken
down into two components: A+ (wood + field). However, from the perspective
of the word origin, “H” is not an independent part, but the figure of fruit growing on
atree.)
2. Zi: (beard; must)

O PRI, 0 AL “ 27 R B
—URAIAE must (R — MRS, BRI AR KR

(“Zi” originally meant beard; “ 71 ” represents the head, “ Z ” represents the
mustache. In this lesson the use of beard is a borrowed meaning: the context of the
word has no association with beard.)

»

. ZETMIETE T . (Words with multiple pronunciations and multiple words with
same pronunciation.)



IR FH IR, FAHERA T 5T
IR U A SRR, AU LA 7 AR 35 5

(If a word has multiple different pronunciations, we called it a %% *. On the
contrary, if multiple words have the same pronunciation, we call these words [7]
EaW,
@ LS I 2 S F RS A, 4. (Question: Please write the

pinyin for the following and make a compound for each.)

.
975

4
%{

- R SGEAE S (Synonym)

o SEAH R BAR I () A 5322 A 3 U Al ] S 2l Sl (Two or more words
with same/similar meaning are called [7] X i or i X ii.)

5] /. (Question:)

TR 1R R 2 & ) R SR el SR S RS S BL. (Please write the
synonym of the underlined word.)

PR BIEIESE? ( )

AR EEWHIAETE? ( )

B LA PUE KT T C )

WEAEP . ( )

e, BRTTTHE. ( )

g b WDN B

JE R ¥, (Pictophonetic character)
e F IR AR, 90% DL b. BEAE S IBEAR, KREZHEFF
F LA R Ry T, HEE R RS ER- . PRk, JES A

EIFE S5 28], LA MR 7S 55 1T 75 7 Z IR AN — @ AR, A7 I A ZE AR

b

(Pictophonetic characters account for the majority of modern characters, over

90%. Along with the evolution of pronunciations, the phonetic component of most
pictophonetic characters are no longer so accurate to the actual pronunciation of the
character itself. They can only be used as a reminder to the reader. Therefore, not
all pictophonetic characters have the same pronunciation as their respected phonetic
components, and the difference can be huge in certain cases.)

L AN RS R SF T, JF4 455 R 75 MM



(Use each of the following character as the phonetic component, please write a
pictophonetic character.)

>
& It

>N

> 1

2. W NAIE AR RS, IS MM ESRIE ST SRE M
MG FHIEDFS . (Please identify the phonetic component for the following
characters and wrote another pictophonetic character with the same component.)

<>
> G
< BH:

T ARIEEAEE, BN T e R P A, IR S AR S L
HAEREZ: 1S 43 it F] - (According to the depiction in each picture, circle
the the mistake in the following phrase. Write the correction in the parenthesis
and fill the blank with the appropriate quantity words.)




Lo SEmC D
2. —____ A
3. —__ fHEEC O
4. — wEmE o

5. fi Pk, “RAaREpE.” ¢ )

R (TR g AN I\ T 1 S = PR G
6. Hrks RS, W PETRET. ¢ O
7. i X FIERTLMEE.” C )

*GIR— NI . (*A radical for each lesson.)
1 (I (knife)

“O17 R AURTINGIE, HRHE RS
“O17 AEEE N R ADBAE <7, AR AT R

M1 “007 B E D REZE DI A SEH], FrEALL “J17 AE5E (107 247 V12 5

FRMEL. 0 “F” AL



(“J17” is the figure of a long knife, used as a weapon in ancient times.
When used as a radical it is often transformed to “ 1”7, positioned on the right
side of the character, such as in “Jl” .
Because the function of the knife is mainly used for cutting and dividing, the
characters with “J]” as the radical have meanings associated with cutting, such as
“J&”, which is the result of a division. )

*-E/J‘E “i””o (AbOUt ((i””)

#l]: (arrive)

PUAE— RO “ 207 (RRE 2 “ )7 (JDe SEBs b, SR, <37 2
—ANESEE CRT FESERE T BRSO “U17 KBGEPEHE dao A1 ¢ )7
PEDEE dao A LU R “ )7 mlhad “2)” HHE5E.

ZHTRANATT 2R 7 (1) =& “2)7 BEE, & Rz
HAT A « BB LIRS R A i 3 1] (1) 22 SR 3l i) Jr 24 | ed —
FE, AFEZ ] 4 2, HEBAE R 2 B RN el i A B b i g “ 007
WHARIAE “ )7 MFEDUT R B, AR “2)” PR O] W
HURB DN N ST T o

(The radical of “%” is now considered to be* 1J” (JJ). Actually, from the
perspective of the origin of the word, the character “%I|” is a pictophonetic character
with the radical “%” and the phonetic component“/J”. This is also apparent from
the pinyin of “JJ” (dao) and “ZI|” (dao).

The reason people think of “ 1J” (J]) as the radical for “ZI|” is because of an
psychological behavior known as “#{ Wiz 4k (Generalization of rules). It is
analogous to how children think the past tense of all verbs is the addition of “ed” to
the original form. Irregular rules are overlooked in the process of
overly-generalizing. Since “JJ” is often used as a radical in the form “ 1J”, written
in the right side of the characters, the original phonetic component “ 1] in the
pictophonetic character “#1|” is easily mistaken to be the radical. )



